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~{c}  De Morgan Thegrem
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Discuss Mesh topology. Star topology, Bus
topology. and Ring topology with diagrams.

What are theresponsibiliies of ihe Datalink layer
and Network |13yer in the O3) model ?

What is Wireless (unguided) transmission
media 7 What are the three major types of
Wireless transMission media, describe each in
detail

What are the differences between 3 Circuit-
switched network and a Packet-switched

network 7 hips://Awww ppuponline.com

4 \P)— VWhat are the diffecences bemween Internet and
“ f

Intranet ?

Describe Dial-up. Leased line, and VSAT

techniques.

What is Boolean algebra 7 Describe the pasic

rules and theorems.

How K-Map is used to minimize a Boolean

algebra ? Describe with an example.

What does Array name signify ? How are Single
and Double dimensioned Arrays initialized ?
(2)
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Differ entiate between Call by value and Call by

reference with 3 suitable eXample.

Explain size of( ) operator with examp'e.

Write your gwn function for the following

operations, without using library functions
(i3 Copy string
(i) Compare two strings

What is the difference between Structure and

Union in C lapguage ? Explain'by giving 2 Sy 'P
example. U

Write a function (using pointer} that compares
two integer arrays to see whether they are

igentical or net

Define a structure type “employee" that would
contain employge name, joining_date (structure
within structure) and salary Joining_date is also
a structure type that contains day, month and

year Using the employee structure, write a

(3) [PT.01

https://ppulearn.com/

program to read a|i the information for 10
employees from the keyboard and print the same

on the screen.

(by  What do you understand by Looping ? Explain
different types of Logp in C language.

40 (@)  WVnte a C program using while loop to reverse
D

the digits of a giv'en number.
QP}' Write output of the following code

#include <stdio.h>
main( )
{

intval = 3;

int "pval = &val.

printf (“%0%d%d"val 'ptf‘H , val++);
}

_____ X aeren
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